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1, sRopREATER?
TG giaradl a7
(1) Jmhfes -  FRIER

TN

TSR Y ITER 3Tl Y gret B

(2) sreefies - SfETR
() STy - L ETR
(4) <ot g —  SUSTETR

(5) STgaIa e

& TR # fr=ferfaa oAl W fmm

Tee Sii | .
(ii) =8 gfaafrar 5§ 7 SIS LED
" W%mﬁmﬁmﬁﬁﬂ?}é?ﬁl
ST U e el 3 @ Wi w7
(1) e (ii) F
(2) (i) 3 (i) g .
(3) 7 (i) s Gii) /&
(4) %= (i) ks
(5) 3TqaiE yea E
T FEg o dem 12 4 T9E §
faenfedi & way o PafafReg FHYE T
ﬁ‘ﬁrr(ﬁ:

() TR ¥ qE Reedt oy e 3
YMTARE |

(if) st fis ord gmr 2 1.38 ware
Gtie T AR T, et ¥ troreem
¥ gat wed W R |

mﬁqmwﬁﬁﬁmﬁmmwa,g?

(1) = (ii)

(2) (i) 3 (ii) 2

(3) 7 (i) it 7 # (i)

(4) e (i)

(5) FafE weq

Which is not a correct match 2

Oceans Marginal Sea
(1) Arctic - KaraSea -
(2) Atlantic — Bering Sea

(3) North Pacific — Sulu Sea
(4) South Pacific — Banda Sea
(5) Question not attempted

Consider the following statements
about Rajasthan’s Shahnoor Ali’'s
recent achievement :

(i) She won a gold medal at the -
National Fencing Championship
in the Under-12 (Mini Junior)
category.

(i) The competition was held in
Nashik, Maharashtra, from 5% to
7t July 2025.

Which of the statement/s given
above is/are correct ?

(1) (i) only

(2) Both (i) and (ii)

(3) Neither (i) nor (ii)

(4) (i) only

(5) Question not attempted

Consider the following statements
regarding Rajasthan players in Pro
Kabaddi League Season 12 :

(i) Ten players from Rajasthan are

Participating  in the current
season.

(i) Sachin Tanwar

: Costliest player
from Rajasthan in the aucti‘c)m.y

Which of the st
: atem i
above is/are Correct ? entis - given

g_; CBJnly (ii)

oth (i) and (ii)
(3) Neither (i o
(4) Only 3; ) er iy

(5) Question not attempteq
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frerfifam wel w R AR T R

R T e & W S S AR

(A) wétiug fard ad 1987 # el &8
ot | B )

(B) Wvei-21, e Rrer whew
TR |

©) TiHheW geier 6l & oW ‘gad
T ot

w2

(1) (A)un (B)wE € |

(2) (A)TT(C)&E |

(3) %a« (B) W2 |

(4) (A), (B)quT (C)T& & |

(5) IrgaRa S

Frfafga @ @ <0 &1 SH A1 Fg 2025
T ST et SHEEHT (FFATHG) % STFER
S e § T T A HafR R ?

(1) iream, SRR, AESiiE

(2) sSMRmE, EshtaE, wiRe™

(3) erfm, miem, TSt

(4) SRR, Ty, TiEEE

5 T :
(5) aﬁﬂ?ﬁ EE;
FRTRT TR ? =
(1) =ifefean B8R — <fior afEn
(2) @M 93K — 3ThRT

(3) afchger - m

(4) Frm@ wer - Aefer

(5) i

Srergn P & o st & e

|

|

|

|

|

a7 |
(1) 10° g & 15° |I
|

|

|

3

2) 5o Zfiqur & 10° S
(3) 5° Iw A 5° <
(4) 10° JTE 15° IW

(5) i A

Consider following statements and

select the correct answer from the

codes given below :

(A) The Brundtland report was
published in year the 1987.

(B) Agenda-21, is related to Rio
Summit.

(C) ‘Sustainable development’ was
the focal theme of Stockholm
Conference.

Codes :

(1) (A)and (B) are correct.

(2) (A)and (C) are correct.

(3) Only (B) is correct.

(4) (A), (B) and (C) are correct.
(5) Question not attempted

Which of the following group of
countries is correctly arranged in
descending order as per their total
population - 2025 (estimates) ?

(1) Pakistan, Indonesia, Nigeria
(2) Indonesia, Nigeria, Pakistan
(3) Indonesia, Pakistan, Nigeria
(4) Indonesia, Bangladesh, Pakistan
(5) Question not attempted

Which is not a correct match ?

(1) Bolivia Plateau - South
America

(2) Katanga Plateau - Afr_ica

(3) Tasili Plateau - Asia

(4) Kimberley Plateau — Australia
(5) Question not attempted

The Doldrums are located between
which of the following latitudes ?

(1) 10° South to 15° South
(2) 5° South to 10° South
(3) 5° North to 5° South

(4) 10° North to 15° North
- (5) Question not attempted
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(A) v § 3 femrea i Afeal # we@
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(D) Tere it =t red g3 7 U evk
WETEE (1ot 3 fmfor et |
(1) g (2) e
(3) fiy (4) Hae

(5) 31gaia we

19/ ﬁw%f@aﬁaﬁqmﬁﬁi’aﬂﬁ%?
(1) MEE - e frery
(2) FeMwTE — DA fEmTery

AR % Rewsg 3 s
(3) a&w—wf?ﬂtnwmﬂmwaﬁ%m |
(4) eftor-gefl samaies gt 3 sy
(5) Irgafa 5w '

+

@) PN~ Tl e
(4) %-2 = g femer |
(5) Srgeia we

10.

Identify the river on the basis of the
following statements :

(A) It is the Westerp mo.st of the
Himalayan rivers in Indla:

(B) It originates from a glacier near
Bokhar Chu. o

(C) It is also known as Singhj
Khamban.

(D) It forms a spectacular gorge
after cutting across the Ladakh
range.

(1) The Khurram (2) The Ravi

(3) Thelindus  (4) The Satlyj

(5) Question not attempted

As per Forest Survey of India report
2021, which among the following
States/Union Territories has largest

area under Mangrove Forest cover
after West Bengal ?

(1) Andhra Pradesh

(2) Odisha

(3) Gujarat

(4) Andaman and Nicobar Islangs
() Question not attempted

Which of the following
correctly matched 7
(1) Pir Panjal — Ladakh Himalaya
(2) Kula Kangri — Kumaon Himalaya
(3) Karewas _ Kashmir Himalaya

4) K-2 — Trans Himalaya
(5) Question not attempteq

iS not

In October and November rainfall
zcc(:jurs on the upper coast of Tamil
adu -

(1) Due to Wes
(2)

tern depression.
stern depression and
shifting of Inter-tropical
convergence.

(3) Dueto South-West trade winds.
(4) Dueto South-East trage winds.
(5) Question not attempted
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12. Consider the following pairs :

13.

Coal-field  State
(A) Talcher - Odisha
(B) Jharia — West Bengal
(C) Korba — Chhattisgarh

Select the correct pair/pairs from the
codes given below :

Codes :

(1) (A) and (B) are correct.

(2) (A)and (C) are correct.

(3) (A), (B) and (C) are correct.
(4) Only (A) is correct.

(5) Question hot attempted

Which of the following statement/s
islare correct about the ‘Per Drop
More Crop’ initiative of Government
of India ?

(A) This initiative is a component of
the Pradhan Mantri Krishi
Sinchai Yojana (PMKSY) to
promote water efficiency.

(B) Financial assistance is provided
at 50 percent of the total project
cost to the farmers for
installation of micro irrigation
under ‘Per Drop More Crop
initiative.

(1) Only (B) is correct.

(2) Both (A) and (B) are correct.

(3) Neither (A) nor (B) is correct.

(4) Only (A)is correct.

(5) Question not attempted
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AT

T A
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L m%ma@n%mﬁﬁmﬁ{f@a
TATH TR TR /S ¢

A8) ¥RG ¢ H1 T W@ IqeF § 3k

HI, IR e Fiffa e
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(b) ¥ra Fuer 3R wRam w1 dew g

%1 e § ok 3w a § A

MR 4 3geht T 6

Hﬁmil

(1) %91 (a) 7o (b) et & |
(2) e (a) 7o (c) Wl |
(3) (a), (b)7en (c) whwd & |
(4) %9t (a) w2 |

(5) 31 weq

Ea"if
=

16/ 3101 51 w2 e P o

Qﬁﬁrﬁ{amﬁﬁmﬁh
AT

14.

185.

ich of the followings are the 'f°p
}li\\llgl?gport destination in descending
order for India in the.year 2023-24 ?

(1) China, USA, Russia, Saudj
Arabia, UAE

(2) China, Russia, UAE, USA
Saudi Arabia |

(3) China, Russia, UAE, Saudj
Arabia, USA _ _

(4) China, USA, UAE, Saudi Arabia,
Russia

(5) Question not attem;pAted

Which of the following statement/s
is/are true in relation with textile
industry of India ?
(@) India is a leading producer of
Jute and ranks second globally
in cotton, silk and man-made
fibre production.
India is the third largest exporter
of textile and apparel and has 3
share of about 6 percent of
global trade in this segment.
The share of textiles and
apparel, including handicrafts, in
India’s total merchandise
exports stood at about 8 percent
in financia| year 2024,
Select the correct answer
codes given below :

Only (a) and (b) are correct.
(2) Only (a) ang (c) are correct.
(3) (a), (b) and (c) all are correct.
(4) Only (a) is correct.
(5) Question not attempted

To eNcourage tourism, which of the
following trains  have  been
|ntfoduced @S theme-based circuit
trains that showcase India’s rich

cultural heritage ng magnificent
historical Places ?

(1) Maharajas Express

(2) Bharat Gauray

(3) Bharat Yatra

(4) Bharat Darshan
Question not attempted

(b)

(c)

using the

OB
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faefefen wert w foem Hiftre -

FUT | Afvaw o Fald § @ H
feert A @ oft atftre @ R,
St 2005 # 1.9 Wi & Tt 2023
HAT 4.3 TR AT R |

B || : TEER, HHR 3 g Famait
H Ra forea 1wl s fefos 2 |

fST MU wHert B ww § W Pt

7 ¥ Tl femea =1 = Hifm

(1) U | FEA BTN HE N TR |

(2) A | TN TAE |

(3) I YT | quT |l A E |

(4) o | 9 R FUTHUA || EAR |

(5) IFFaRa ¥

WG THR HARAFEE, 1919 & SEUH! %

Heof § frfifaa st W e

(i) a3 T T S A T
£ woh fad 5 @ it weE &l
£ Rorl & w sreme g, Fr@ aieg
3 e afvre gro fge e Smam |

(i) e Ba ST T T WG 4 T
e TG X T T 38 T e
fopa < geh T |

e e el 3 @ AR TR ?

(1) e (i)

(2) () 3fe i) ¥ ;

(3) aa (i) AR (i)

(4) Fa (i)

(5) I ¥

R 1

~

17. Consider the following statements :

18.

Statement | : India’s share in global
services exports has more than
doubled, reaching around 4.3
percent in 2023 from 1.9 percent

in 2005.
Statement Il : In Telecommunications,
computer and  information

services, India is the largest
exporter in the World.
In the light of the given statements,
choose the correct option from the
following :
(1) Statement | is
Statement Il is true.

false and

- (2) Both Statements | and Il are true.

(3) Both Statements | and Il are
false.

(4) Statement | is
Statement Il is false.

(5) Question not attempted

true and

With reference to the provisions of
Government of India Act, 1919,
consider the following statements :

(i) There shall be established in
‘India a  Public Service
Commission consisting of not
more than 5 members, of whom
one shall be the chairman,
appointed by the Secretary of
State in Council.

Each member of the Public
Service Commission shall hold
office for 4 years and may not
be reappointed.

Which of the statements given
above is/are correct ?

(1) Only (i)

(2) Both (i) and (i)

(3) Neither (i) nor ii)

(4) only (i)

Question not attempted

(i)

(5)
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F1 51T &)

(A) VIII (i) wRa o she
Tamd

(B) X (i) HsFAUTERTEH
BIEDIE

(C) XI (iii) weftT Yo
BlIBETW

(D) Xl (iv) Tsa afve, 3g%
HATEHR TS
35T fawm

%<

(A) (B) (C) (D)

() (i) @) (v) (i)

(2) (i) Gv) ity ()

(3) (v) (i) @) (i

@) @) (i) (i) (iv)

(5) T

Feafafes aodifs el w fmr
ﬁhqaﬂrmﬁ@rmﬁaﬁa‘i;ﬁ' =
gmmﬁmﬂﬁm
A E

(1) 9= fatey ay ' |
() Fq=-gan

(IV)mmﬁm%ﬁ%m
T e

ﬁﬁquﬁﬁmﬂwaﬁtwl
Wﬁm:

(1) %ﬁa(l)am(m) I
;W

EE |

|

I

8

(2) aaa(l)amal)

(3) (. (), (== (1v)
(4) (1), (1) 7= ()

(5) 3rgafa e

19.

' ith List-Il and identify
Match List-l with List-ll an
the correct answer from the codes

' low :
g|verL1iI;§IO List-1l
(Part number of (Subject Matter)

the Government of

India Act, 1935)

i) The Services
@A) Vil ( of the Crown in
India
(B) X (ii) Transitional
Provisions
(C) XI (iii) The Federal
Railway
Authority
(D) XIil (iv) The Secretary
of State, his
Advisers and
his Department
Codes :
(A) (B) (C) (D)
() @iy @) Gv) (i)
(2) (i) (v) (i) (i)
(3) (v (i) @) (i)
(4) () (i) (i) (iv)
(5) Question not attempted
20. Consider the

ons following political
Principles and fing out among them

those Principles in which Ambedkar
shows his distr i

)] Village-leve| Hierarchies
{])) Separate-electorates
(1) Hero-worship

(1v) Democrac

Select the Correct ansg
help of codes given belo

(1) Only (1) anq (i
(2) Only (1) ang (1))
(3) (), ), any ang (IV)
(4) (1), () and ()

(5) Question not attempted

wer by the
W
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Scanned with CamScanner



21 Trefofea § ¥ few e § wra % e

0B

- (1) CeaEER T W §.(1979)

AT 3 WG % iU ht SR §
THISEAE 35, Wt 63 S W 78 o
% 0@ <R B @ F e
3R T Tt % v § o & s
FHE T & wieg frewft 7

(2) WRG €9 T TG ST (1981)

(3) AW AR =W IW TeW T
(1991)

(4) <.TH. THU M YRa 99 (1983)

(5) ST S

WA % GfRY™ % JT9e 15 & ey |

ffafaa wuel | RER R :

(i) =D 15(1) T=a 3 =R H
Faer v, geEw, Sfd, o an 5=
T 3 TR R Ay & bl
2

i 7= 15(5), 933 dfum HMYA
iffrm, 2006 g ST TR A1, S

o g e e aft s i |
st v & getra faRy Srau |
FEE | |

mﬁqmmﬁﬁ@ﬁ?m/ﬁﬁﬂa/i‘ 7

(1) e (i)

2) (i) 3 (i) S

(3) q?ﬁ(i)aﬂtqﬁ(“)

(4) = (i)

(5) a3+

21.

In which of the following cases
Supreme Court of India held that the
addition of the word ‘Socialist’ in the
Preamble of the Constitution of India
might enable the Court to learn more
and more in favour of nationalisation
and state ownership of Industry ?

.... (1) Excelwear V/s Union of India

22,

(1979)

(2) Union of India V/s Ramchandra
Sambhaiji (1981)

(3) Yogesh Bhardwaj V/s State of
Uttar Pradesh (1991)

(4) D.S. Nakara V/s Union of India
(1983)

(5) Question not attempted

Consider the following statements

regarding Article 15 of the

Constitution of India :

(i) Article 15(1) prohibits the State
and individuals from

* discriminating on the grounds
only of religion, race, caste, sex
or place of birth.

Article 15(5) was inserted by the
93¢ Constitutional Amendment
Act, 2006, which makes special
provisions relating to admission
to all private educational

institutions aided by the State.
Which of the statement/s given
above is/are correct ?
(1) Only (ii)
(2) Both (i) and (ii)
(3) Neither (i) nor (i)
(4) Only () -
(5) Question not attempte
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(1) T e 8 feeett

(2) Trfeem

(3) frstrm

(4) TEwiG &= ygad
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[ R el T -

Hehod T forea yRmRa 1 2 7
(1) ST9 9Tg e

(2) 31ge Sigett

(3) gE™ yetsfiat

(4) FFeith St

(5) ATuia yw

- E'I’-
-
.

25¢ W@ % I e ¥ e | @

mmﬁﬁmmgﬁ“mm
F A I TR % T Ty g 3
Wm%m%aﬁama%
S (%) # aftfa Fder & srgeu 2

(1) 155ft St 3 et arw (1986

(1982)
(3) =T Qe & v wr (2015
(4) 0 e e 72t ozt (2004)

(5) rgafa weq

, 23.

24,

25,

|
|
|
|

| 26.

:4antial Election, 2022
|denn Territory had the

tes of eackh
inimum value of VO
ggrlnrzer of Legislative Assembly ?

(1) National Capital Region of Delhi
(2) Sikkim

(3) Mizoram
(4) Union Territory of Puducherry

(5) Question not attempted

In the Presidél
which State/Unio

Who has propounded the concept of
‘India’s Second Dominant Party

System’ ?

(1) Pratap Bhanu Mehta
(2) Atul Kohli

(3) Suhas Palshikar

(4) Christophe Jaffrelot

(8) Question not attempted

In which of the following cases
Supreme Court of India has stated
that “flying a National flag freely with
réspect and dignity s consistent with
the duty in Clause (a) of Article 51-A
of the_pons,titution of India” ?

Bijoe Emmanuyegl Vis State of

PS(erala (1986)

urya Narain ch
o gglon Ol;(lndia (150 2o)udhary V/s
aru :
e (201f:5l;rana VIs Union of

Uni .
(2OI(())‘r1‘)Of India v/ Naveen Jindal

(5) Question not attempted

In Pursuance

_ of
followmg Articles of
of India, Indi
Passed ‘T

Which of the
the Constitution
Parliament has
Payment of Gratuity

(2) 42
(4) 46
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Tl - 2030 % Ryamr, 2015 3
W ogwr e |

(1) 17 waifya foerrar Sewa e 169 wiex

() “guft & @' - g e w1 i
frg@z

Wiﬁfﬁ"{:

(1) F=a () F& 2 | (

(3) ¥ (hwem () ThEL |

(4) (1), (@ () a7 g |

st § wfea Yo qf ® ued

ST ATodd T <t STeAETam § T

(1) e i e gfrm o

(2) fegmsiqam

(4) e Jve 3 Ife wid

(5) I T

Tee @ R A B A o)

2 3wy 3 fafa fF R 7

(3) Rrawista =  (4) T FA1S

(5) Jgaia T

OB

29,

11

27.

28,

30.

In which year the name of ‘Look East
Policy’ was changed to .‘Act East
Policy’ by India ?

(1) 2014 (2) 2017

(3) 2019 (4) 2011

(5) Question not attempted

Consider the following statements :

() India adopted United Nation's
2030 Agenda for Sustainable
Development at UN General
Assembly Summit in September,
2015.

(Il) The 17 Sustainable Development
Goals and 169 targets are part
of this agenda.

(lll) “Live with Happiness” is the
Universal Principle of this agenda.

Select the correct answer with the

* help of codes given below :

(1) Only (1) is true.

(2) Only (1) and (Il) are true.
(3) Only (1) and (Ill) are true.
(4) (1), (1) and (1) all are true.
(5) Question not attempted

Identify the Trade Union, active

among the labourers, which was

established under the presidentship

of Lala Lajpat Rai :

(1) All India Trade Union Congress

(2) Hind Mazdoor Sabha

(3) Bhartiya Mazdoor Sangh

(4) Indian National Trade Union
Congress

(5) Question not attempted

Who among the following scholars
has described Jawaharlal Nehru's
Foreign Policy as ‘Westphalia plus
non-alignment’ ?

(1) C. Raja Mohan

(2) Kanti Bajpai

(3) Shivshankar Menon
(4) Bharat Karnad

(5) Question not attempted
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- Which one

Consider the following statements
g Cultural Globalization :
Globalization is 4

regardin

(I Cultural . _
process whereby information,
commodities and images
produced in one part of the
World enter into a global flow
that tends to ‘Flatten out’ cultura]
differences between nations,
regions and individuals.

() However Cultural globalization is

a complex_ process that
generates both homogenization

or cultural ‘Flattening’ and

polarization ang diversity.
Choose the correct option :

(1) Only () is correct,
(2) Both (1) ang (I) are correct.

(3) Neither (1) nor (1) is correct.
(4) Only (1) is correct.

(5) Question not attempted

ol of the following
nstitutions s noy a Id
Bank Group 5 Part of the Wor

(1) Internationq,

Association ID
(2) International( o
Corporatigp, (IFC)

(3) ISnternational Centre  for
etﬂement of isputes
(ICSTD) Trade Disp

(4) MUItllateral Investment

GuaranteeA
_ gency (MIGA
(5) Question not atter)r,ugted )

Development

Finance

OB
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33. ﬁm%m(aﬁ)qﬁwa;

4 mﬁﬁﬁm@maﬁ::
TR ? -
(1) T S g sgard |
(2) =R ERE |
(3) Tt whads fwm 1 wfya

HAE |

(4) T F TRfes s aRa g € |
(5) ARGy

e & faem fagma i 3@ e #
Teremeff vifoss sr=afomar & fomr 9 e
TS I Aued 8, Ifig 3w
IR IryTETel & faw ° e fomaa o oft
it 210 & | 98 STae g -
(1) qa-fsrareeh -
(2) Td forameTs
(3) =i fRaTes
(4) HAG-THS
(5) I ¥
35,/ 3w (1965) % AR, T s H
e i Sk TR ) SRR &9 8

y/

h g
o P

(3)
(4) e eaforeh qrll G

et
(5) A 5
A & 8 i SR G Al

¥ @, & s =
#?‘ﬁmaﬁ el AR DIMRIS)

36,

33.

34.

35.

36.

Which one of the following is not a
fact necessary to understand the
pattern of development ?

(1) Development is aided by
stimulation.

(2) Allindividuals are equal.

(3) Cultural changes affect
development.

(4) Early foundations of

development are critical.
(5) Question not attempted

In this stage of Piaget’s development

~ theory, students not only understand

concepts that have no physical
reality, but also they get deeply
involved in  thinking about
possibilities and even impossibilities.
That stage is -

(1) Pre-operational

(2) Concrete operational

(3) Formal operational

(4) Sensory-motor

(5) Question not attempted

According to Caroll (1965), how should

a teacher apply educational psychology

in a practical classroom setting ? .

(1) By conducting psychological
experiments

(2) By understanding all .aspects of
students’ school learning -

(3) By memorizing psychological
theories _

(4) By focusing only on academic
content delivery

(5) Question not attempted

ong the man historical. root_s for
gfgpir?é the ﬁgld of educatlor;]ac:
psychology, @ pioneer 'Wnal
established - the first .educeggsved
psychology laboratory and V; *
the child as an active learnervrv ke
(1) John Dewey (2) E.'L.. Tr: s
(3) B.F. Skinner (4) Willia

(5) Question not attempted R
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37.

40. foeav & w3
g

. Fafafes & & ¥4 TS
TRreqwr— safermn sy § w7 & 7

) R srEERom & e 2 St
%m@ﬁﬁmwmélm@ﬁ
™ TAEW S guay 31? a® fra
R T g g R 7
(1) w9F e/ %1 g
(2) WNe-=gen =1 frgr
(3) W=t = fagra
(4) T gt  Rrgr
(5) Irgmia wea

B

(1) ¥R w e iR € e
Bl 1 38 FEHRE e R |

(2) =TS e S v |

(3) Wﬁﬁﬁmmmm%

(2) wfh wire q
(3) =g iy

(4) FE-TRuwT ad

(5) IrFafa e

AR W Peafafes § 9
T TSR TR g 7
(1) fa @ srfirmy

(2) =81 &R iftpmy
(3) fom & arftrmy
(4) rFaEY & Aftrm

(5) 3aRd SF

[
o

37. Hardik

38.

E’:‘;“)

39.

40.

Accordin

is having ktnowlte;d%e of
ical concepts which garg

Ir\m/leal‘::"i]ri;n ahtllr(n to Iearn Physics. Thig

transfer of learning canr) be best

explained by which _theory :

(1) Theory of Identlcal elements

(2) Drive-Reduction theor_y

(3) Theory of Generallzatlon

(4) Theory of Instinct

(5) Question not attempted

Which of the following statement is

not related to constructivist teach
learning process ?

Learning is a constructive
activity and students have to
carry out.

Constructivism

centered process.

Constructivism gives emphasis
on the existence of pre-existing

knowledge or experience

The main objective of instruction

is the concept formation and
intensive understanding.
(5) Question not attempted

ing-

(2)
3)

is teacher

(4)

development, co

i al reasoning
Justice Perspective

Pre-cenventional reasoning
Question not attempted

. N the Jevgl of teaching
Which of the following is the simplest
type of learning 7

g leve| learning

Question not attempted

OB
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F T % A T Fw o | A A
Wﬁﬁmﬁmsﬂa{a‘gﬂqﬁQ
Wéﬁ?"&'EWWWW|

SHH GT AT T e R
Toreemmm

IR 9

42,/ Frefafen § & o a1 fywew smemd g
Fifiepa safamTe e @) gutar & 7
(1) ™o, i wa s e
(2) HI, wad Ta ey e
(3) = & wad e
(4) FIET, Ffr el wivor sfremor
(5) 3gaRa s

'4}./ TEll-l (whiegon) = g1l (weasie) %
qry gafea FID qen giel & R R
T F FH IFM HH TE IR B T

Hifrd:
Gl Gall
(7] (FATI)
(A) 16 fURIFEE (i) Yo
- (B) wreg Ag=d vl (i) W @ A
(C) wrafireh SA=mamy (i) et
qligor
EGERCD
qltegor

(iv) 1g8 Td S

% :
(A) (B) (C) (D)
(1) (i) (i) (i) (i)
(2) (i) (v) (i) ()
(3) (v) (i) (i) (i)
(4) () (i) (iv) (iii)
(5) Frgaftd ¥

OB

L
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"

|
|
|
|
|
|
|
|
|
I
I
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41. Praveen was very aggressive in
nature and used to fight with other
people. Later on to avoid this socially
unacceptable behaviour, he became
a good boxer. The defence
mechanism adopted by him is :

(1) Displacement

(2) Repression

(3) Reaction formation

(4) Sublimation

(5) Question not attempted

42. Which of the following option
represent the personal traits
classified by Allport ?

(1) Secondary, Central and Source
traits

(2) Source, Surface and Central
traits

(3) Central and Surface traits

(4) Cardinal, Central and Secondary
traits

(5) Question not attempted

43. Match the List-l (Test) with the
List-1l (Psychologists) and select the
correct answer using the codes
given below the lists :

List-1 List-11
(Test) (Psychologists)
(A)16 PF (i) Bellak
Questionnaire
(B) Word Association (i) Murray and
Test Morgan
(C) Thematic (i) Cattell
Apperception Test
(D)Children's (iv) Freud and
Apperception Test Jung
Codes :
(A) (B) (C) (D)
(1) @) @iy @) (@)
(2) (i) (iv) (i) (@)
(3) (iv) (i) (i) (i)
(4) (i) (i) (iv) (i)
(5) Question not attempted
5
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" 44. Which of the following areas of

4?‘ i o1, 5 3 ﬁaﬁ.ﬁ kil W emotional intelligence were given py
FAeh fywE eft wamers *S’ﬁ&’ﬁ John D. Mayer and Peter Salovey iy
(A aerile vg riivme sefemi) 3

their book ‘Emotional Developmep

HaTTee gfg ¥ Praffeg 14 99 o and Emotional Intelligence’ ?
e ¢ (A) Empathy

(A) Tufa (B) To perceive emotions
(B) Haii 1 wemafiemawn (C) To manage emotions

(C) Hamit =i waiftr e (D) To integrate emotions in thoug
(D) Harit =51 e st 3 T o (E) To understand emotions

(E) ot = wwgmn (F) Interpersonal relationship

(F) sdafers gy Choose the correct answer from the
ﬁ%ﬁqwﬁﬁﬁﬁ;@mgﬁq: options given below : '

ETE Code :

(1) 39 (A), (C) w (F)

- (2) %9 (C) wd (F)
e (3) ¥ (A)wE (F)

=~ (4) %= (B), (C), (D) W (E)

(1) (A), (C) and (F) only

(2) (C)and (F) only

(3) (A)and-(F) only

(4) (B), (C), (D) and (E) only

(5) Irafe@ e (5) Question not attempted
e}/ﬁmﬁé%g&wﬁmﬁ%m% 45. Which of ing di

S e M - eh of the following dimension is

mmﬁg‘j'?‘"@ﬂ 1 g?t mIcI:Jc:Iedtin the basic dimension
7 Nellectual  functionin in

(1) <& 2) e uilford's mode| of mtelllgencéq ?

(3) 3w (4) dhwa (:13) Competency (2) Content

(5) 3rghe w (5) roduct (4) Operation

Question not attempted

- A teaCher 0 . .
Class anq ep S€s a problem in his

NCourage the students to

Wn ideas in a divergent
feramy m
TS g fiyd il ﬁ| przg?eer @ response to that
GHTAHA B T U ety Al ideas are recorded o
39T 3 7 ¥ R gy | technic. 2luation.  This  particular
o TS T Rl wRedy N prom l?Ue used by teacher
b I (1) Soye Creativity is called :
necti
(;) Rrfaera (2) Rieh-FR-grp | (2) Tmnk‘fﬂ‘;?,_share
(3) nferap-3ge  (4) Ry | Brainstormy
(5) HTea wom I zg) Jigsaw
3 ) Question, not attempted
16 0B
s ; 4
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frefefea & @ o9 @ o w2 fR

w0 1 YR femed 3 owwE

(1) = W sl o g
WWWWW%|

(2) Toreres i e & Fafks Rrranadt 5
R afra I B =t )

(3) =ft frenRial = v fARm R &
Tregor faftr & vy =& ot wepett |

(4) St HET | TEH SEE I B B
STUET HEAT |

(5) FaRa A

48, 13 go fen-fidw A M &, < Rrerfid
¥ whiir ot @ # iE 7 F
RmwEsEl
=7 A B 1 Freheq TER TE R 7
(1) ferenfRfeit 3 feredt 3 wRom 3 fere
veeh bt IerErA & |

(2) dadi, Fat 3t whedt &
3fg N g ST |

(3) TR MEAS R

j7.

l
&

l (3) Autonomy

47. Out of the following facts, which one
needs caution for effective
implementation of individual
difference in the classroom ?

(1) The classroom is a mix ability
group, need instructional
planning accordingly.

(2) Teacher needs to have desired
knowledge about individual
differences in the classroom.

(3) ‘All students cannot be benefitted
by one particular method of
instruction.

(4) Expect uniformity in gaining
proficiency from whole class.

(5) Question not attempted

48. Placed below are certain guidelines
to support self-determination and
autonomy for motivating students.
Which one of the following options is
not supportive ?

(1) Hold teacher accountable for the
consequences  of students’
choices.

(2) Provide rationales for limits,
rules and constraints.

(3) Acknowledge and
negative emotion.

(4) Allow and encourage students to
make choices.

(5) Question not attempted

accept

_ Which component of intrinsic
motivation relates to ‘the sense of
pride and accomplishment’, that an
.z individual - may experience while
carrying out a difficult task ?

(1) Enjoyment (2) Mastery

(4) Challengé

(5) Question not attempted +

17
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50. Ffofes & & # & R =y A

TERE g R 7

(1) == sfirs vl 2

(2) * % I7ar w1 v @ T Wiy
e et 2 )

(3) it fer & et =8 i |

(4) @t st 31idfer 7€ fovam i1 et |

(5) 3rgafa s

. Fefefes § 3 9 o IUGNIHS
Ma;/m%mrhﬁﬁgm%fm
mnaﬁmﬁﬁ%/‘??

(A) T mferes Ty

(B) Taei fufey E.
(C)-Tata fafy

(D) sxwgrren= fafy
ﬁﬁ?‘mﬁﬂm‘fﬁﬁ?@mmw
Hifo ;

%z

(1) %= (D)

(2) %= (B) 3k (C)

(3) %= (A), (C) 3in (D)
(4) e (B)

(5) 3Faid yyq

50.

51.

Which of the following CharacteﬁstiCS

is not related to interest ?

(1) Interest is @ motivating force,

(2) Working according to i"tereSt
helps in achieving goals,

(3) Interests are not fixeq ang
permanent.

(4) Interests can not be acquirgq

(5) Question not attempted

Which of the following Curativg
techniques  is/are used
improvement in delinquents ?
(A) Psychodynamic method
(B) ‘Enrichment method

(C) Rehabilitation method
(D) Behavioural method
Choose the correct answer
following options :

Code ;

(1) (D) only

(2) (B) and () only

(3) (A), (C) ang (D) only
(4) (B) only

(5) Question not attempted

for

frpm the

The Processes |ike perception of
relationg and restructuring symbols
and ideas are categorized into which

COmponent of aptitude ?
(1) P

'Y component

(5) Question not attempted

OB
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53 Toe™ 1 frafafea & ¥ frg & =
ST AR T AT R 7
(1) = (2) 9w
(3) wrelifry (4) e
(5) FaiE ww
5}. TSR o 2023-24 1 g vht & 55
&1, T T & 1 50% J 3ifres o 7
(1) W=
(2) WdE =
(3) 3rriiepa =
(4) mfEE A
(5) Iraia w=
5§5. “Toeum-3077" e w1 weR e
Wﬁ% ?
(1) T (2) wHT ;-;
(3) W (4) =mEe =
(5) 3w S
56 o i Mew B B @ T R o
L INEISEIRLE L R
(1) et 2) fr
(3) @R (4) T
(5) FAgARd T |
57~ ffirfga & & =1 @1 0 <ol st
FI R e ?
(1) WG M (2) FET
(3) TG e~ (4) T
(5) 3rgaRd 5=
58 #A ¥ Y affetr % AR,
Torea ¥ e & # BShw SIeTarg SR
U SR ?
(1) B TR FeH
(2) 3TE-Th T
(3) et Agr T
(4) T TeT
(5) Frgaid S

OB

53.

54.

55.

56.

Among the following rivers Of
Rajasthan which river has not it's
origin from Madhya Pradesh ?

(1) Mahi (2) Som

(3) Kalisindh (4) Parwati

(5) Question not attempted

In Rajasthan which category of
forest has more than 50% of the total
forest area in 2023-24 ?

(1) Protected forest

(2) Mountain forest

(3) Unclassified forest

(4) Reserved forest

(5) Question not attempted

“Rajasthan-3077" variety is related to
which crop ?

(1) Wheat (2) Maize
(3) Moong (4) Rice
(5) Question not attempted

Which breed of cattle in Rajasthan is a
mixed breed of Sindhi and Sahiwal ?

(1) Malwi (2) Gir
(3) Sanchori  (4) Rathi
(5) Question not attempted

Which of the following is a peak of
Southern Aravalli ?

(1) Bhangarh (2) Sayra
(3) Taragarh  (4) Bhairach
(5) Question not attempted

As per Koppen's classification .of
climate, in which region of Rajasthan
is the BShw climate type found ?

(1) Hadoti plateau region
(2) Semi-arid region

(3) Northern plain region
(4) Arid region

(5) Question not attempted

\
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59. Peifkawrid AP a/a s 2/E 7 ad

I HT w7 i fo 1T %2 @ iR ;

(A) e Tital & wg 1 BT FEr @D |

(B) R et o stedt 3% W e # |

(C) mufemn Sl @1 wgE FreErer
FEATA R |

ig:

(1) B)3(C) (2) ¥ (B)

(3) (A), (B)3MR(C)(4) (A) 3tk (©)

(5) Srgefa s

60,/ 71 g 787 2 7
3T SR

(1) sor i e e - HATHT

(2) e iz —- SR,

(3) T i - Prarg

() Tmmwfiaem - U

(5) sreifi ey
gyﬁumﬁa%aﬁéﬁmamﬁ

(1) T (2) ey
(3) e @) Fe |
(5) s s ;
l
62, 2011 3 IFER, TRy ¥ |
ﬁqﬁfbﬁﬁﬁaﬁﬁﬁﬂmmss l
Sfoerd & @ eff 7 |
(1) wammrg (2) sk ,’
(B) & - ) R ;
(5) Fgafe we l
20

/Y

l 59.

60.

61.

Which of the following statem
islare correct ? Select the cor
answer from the codes given below

(A) Group of Bhil villages is ca
‘Phala’.

(B) Ger and Neja are the main 1{
dances of the Bhils.

(C) The chief of the Garasig tribe
called ‘Kotwal'.

Codes :

(1) (B)and (C)  (2) Only (g)
(3) (A). (B)and (C) (4) (A)and ((
(5) Question not attempted

Which is not g correct match ?

Industry Location
(1) Sulphuric Acid — Kapasan
Plant
(2) Capstan Meter — Jaipur
(3) Rajasthan — Bhiwadi
Telephone
(4) Chambg — Gadhepan
Fertilizer

(5) Question not attempted

ot the following districts
the highest Percentage of

decada| change (2001-2011) in
Urban Population 9

(1) Rajsamand (2) Alwar

3) D (4) Kota
(5) Question not attempteq

ausa

AS per Census 201 1, which one of the

:’ictJllowing district of Rajasthan has
eracy rate |ggg than 55 percent 2

(1) Pratapgart, (2) Jalore
(3) Barmer

OB
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65, Frafien el 1 7R i A3 Ry
P SR TR

'iZ:
(1) FaaB AR |
(2) AstB R w@ |

e el 2 s w3
ﬁmﬁﬂ@ﬁmaﬂwaﬁﬁq;ﬁ

R:

(1) S Bw@R )

(2) A3 B wd |

(3) ARB i Tem® |

(4) TTAATAHR |

(5) g s

AT WA F Gel F Frifea et w

forem Fife we vt forepe i

A. w=an 8 T g st Rifega 3
=118 1 e femama |

B. < Ieh Jam-=aim A off st A
FAT=1 § SIS 1 e TR § |

(1) S BTER |

(2) A3 BERI T ¥ |

(3) A 3R BH S E |

(4) FTAATIR |

(5) Jrgaia

A @ w@ F Pem § feps @

Ie@H frrman an |
B. dt.ua. fug % féwm & =enyw

3@ franman an |
i~
E-'l'-.
w

(3) AatBaAi @ |
(4) ¥ ATER |

(5) A ¥

OB
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63.

64.

65.

Read the following statements and
choose the correct option with the
help of codes given below :

A. Vigraharaja IV was a follower of
Shaivism.

B. According to Prithviraj Vijaya,
Vigraharaja IV banned animal
slaughter on ‘Ekadashi'.

Codes :

(1) Only B is correct.

(2) Both A and B are correct.

(3) Both A and B are wrong.

(4) Only A is correct.

(5) Question not attempted

Consider the following statements

about Bairath civilization and choose
the correct option :

A. It is believed that the Hoon

invader Mihirkul had destroyed
Bairath.

Chinese traveller Xuan-Zang

has also mentioned Bairath in
his travelogue.

(1) Only B is true.

(2) A and B both are true.
(3) A and B both are false.
(4) Only Ais true.

(5) Question not attempted

Read the following statements and
choose the correct option with the
help of codes given below :

A. Gilund was excavated under the
direction of B.B. Lal.

B. Balathal was excavated under
the direction of V.N. Misra.

Codes :

(1) Only B is correct.

(2) Both A and B are correct.
(3) Both A and B are wrong.
(4) Only A is correct.

(5) Question not attempted

‘

J
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66. frfafed & 4w s % g @

WM WaTd <t &1 & wfirer o 7
(1) == fig

(2) ST FEaTEr

(3) e wifim wwa

(4) wieEm

(5) IFaia yw

67 1857%%;*‘13%mweﬂmﬁaﬁﬂﬁ

A1 3 W T of

(1) 304 st Ifew 3t
(2) v S Ferd |
(3) 7% s e s g

(1) 1922%. (2) 1923%
(3) 1924 %, (4) 1921%
(5) wigafd sy
69, 1298‘§.ﬁ3ﬂ3-ﬁ1%ﬁﬂrem$éaﬁﬁﬂ
'%amqf%amﬁamaﬁg&m
T fomam o 7

(2) ST &l v Joeq wf
(3) ATEA-39-Te we Regwr i

(4) FATGEA W& e
(5) gt s
70/'373761 % ToRE R (1573 §.) §
ﬁnﬁffaaﬂaﬁraﬁnﬁwmm
fan 7
(1) T fEg (2) i
(3) S @ (4) 3T fiie
(5) Frgwifed s

66.

67.

68.

69.

70.

N
N

Who among the following was part of
Maharana Pratap’s army in the
Battle of Haldighati ?

(1) Man Singh

(2) Jagannath Kacchawaha
(3) Sayyid Hashim Barha
(4) Shaliwan

(5) Question not attempted

Which military contingent was not

deployed at Nasirabad during the
1857 revolt ?

(1) 30" Bengal Native Infantry
(2) 1%t Bombay Cavalry

(3) 72M Bengal Native Infantry
(4) 15" Bengal Native Infantry
(5) Question not attempted

In which year was the newspaper
‘Naveen Rajasthan’ firstly published ?

(1) 1922 AD. (2) 1923 AD.
(3) 1924 AD. (4) 1921 AD.
(5) Question not attempted
Under the

. Ieadership of which
generals did Kanhad pey defeat the

Khilji army bad| i
AD y Y near Jalore in 1298

(1) Malik Naib ang Shams Khan

(2) Ulug Khan ang Nusrat Khan
(3) Ain-ul-Mylk and Khizr Khan
(4) Kamaluddin and Shahin
(5) Question not attempted

Who among the following provided

significant Support in Akbar’ jarat
: ar's Gujara
Campaign (1573 AD.)? !

(1) Raj Singh (2) Rai Singh
(3) Chandra sen (4) Udai Singh
(5) Question not attempted
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I

|

I

|

75,/ g # ‘gemiee wfeE wé (1940) % |
' !

|

|

l

|

BT A" Y T ) off
(1) HrmeETS (2) T=
(3) wrEaTRT 4) &
(5) e wem
ﬁﬂ%%aﬁﬁmmnﬁwr%a
éﬁwmmmmmm
SqIqT T ?

(1) R

3) =&

(5) ITFaiE WA

(2) sigars
(4) At

FH TR R/E 7

A, ITeH % ITE e T e of |

B. Wit %1 fe® g & Wi
TSTHAT <5 |1 BT T |

C. 3TM A wRoft 6 Y ¥ e
sfrg fean o |

@:

(1) B3RC

(3) A,B3C

(5) qaf@uH

(2) A3RC
(4) HaA A

FIY IR § Rrfern fram arien
T} TeqTe @ o ?

(1) we Higd rereita

(2) wTeAT T

(3) JaTETETd EE

(4) wiepur= s T focs
(8) Jrgafa 3

TEUUH S 7

(1) faishar fus
(2) futsiemer swEm
(3) et v ferardl
(4) AT ST

(5) Irgwiftd 9

T

23

7.

72,

73.

74,

75.

At which of the following places "dld
Shobhalal Gupt establish “Harijan
Sevashram” ?

(1) Sagwara  (2) Hathal

(3) Banswara (4) Hatundi

(5) Question not attempted

Which of the following princely state
that was integrated into Greater
Rajasthan had the largest area ?

(1) Dungarpur (2) Banswara

(3) Bundi (4) Karauli

(5) Question not attempted

Which of the following statements

about Pabuiji is/are correct ?

A. Pabuji had a mare named
Kalami.

Pabuji was married to the Bhatj

Princess of Pugal.

C. He sacrificed his life to protect
the cows of Deval Charani.

Select the correct code :

Codes :

(1) BandC (2) AandC
(3) A,BandC (4) Only A
(5) Question not attempted

B.

Who among the following had put
forward the proposal regarding the
Bijolia Peasant Movement in the
Amritsar Congress Session, 1919 ?
(1) Madan Mohan Malaviya

(2) Mahatma Gandhi

(3) Jawahar Lal Nehru

(4) Lokmanya Bal Gangadhar Tilak
(5) Question not attempted

Who was the founder of
‘Prajamandal Progressive Party’
(1940) in Jaipur ?

(1) Chiranjilal Mishra

(2) Chiranjilal Agarwal

(3) Devi Shankar Tiwar;

(4) Jamnalal Bajaj

(5) Question not attempted

A
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76.

77.

78.

79.

Which statements are correct ahg

Kishangarh style of painting ?

A. The beauty of Radha g
Krishna is the main theme of t,
painting.

B. In most of the paintings, Wome,
are dressed in Lehnga, Cho
and transparent Aanchal.

C. The painters of this school are

Sitaram, Bhawanidas an
Kalyandas.

Choose the correct option :

(1) AandB (2) BandC
(3) AandC (4) A,BandC
(5) Question not attempted

Where among . the following s

‘Nhaan’ organized on the occasion
of Holi ? 7

(1) Beawar (2) Sangod
(3) Shri Mahaveer Ji (4) Bhinay
(5) Question not attempted

Consider the following statements

about Ramanand and choose the
correct option :

A. On the request of Saint Pipa,
Ramanand came to Rajasthan.

B. Ramanang's influence is not
widely visible in Rajasthan.

(1) OnlyBis true.

(2) A and B both are true.

(3) AandB both are false,

(4) Only A is true.

(5) Question not attempted

Which of the following is not a
feature of Badoyj temple ?

(1) Engraving on pillars

(2) Simple ceilings

(3) Panchayatan style

(4) Beautiful carving of women
(5) Question not attempted
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(2) M. Chenna Reddy

Which one of the following pairs is
not correctly matched ?

Text Author
(1) Budhivilasa : Bakhat Ram Sah
(2) Bhimvilasa : Kavi Jadunath
(3) Vijayavilasa : Vishan Singh

Barhat

(4) Rajvilasa . Kavi Mann
(5) Question not attempted

Identify the Governor of Rajasthan,
in whose tenure the proclamation to
withdraw the President's Rule was
issued on two occasions :

(1) Raghukul Tilak

(2) M. Chenna Reddy

(3) Dhanik Lal Mandal

(4) Vedpal Tyagi

(5) Question not attempted

Identify the Governor of Rajasthan,
in whose tenure proclamations to

impose as well as lift the President's
Rule were issued :

(1) Raghukul Tilak

(3) Vedpal Tyagi
(4) Sampurnanand
(5) Question not attempted

Dukul, Ansuk, Vasan and Chol are
the popular name of which type of
clothing ?

(1) Ghaghra  (2) Choli

(3) Odhani (4) Saree

(5) Question not attempted

Which 'Khayaal' is mainly sung in
the folk music of Jaisalmer ?
(1) Hela

(2) Turra-Kalangi

(3) Kuchamani

(4) Mehandra ri Khayaal
(5) Question not attempted
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85.

86.

87.

Which of the following pairs is not
correctly matched ?

Chief Minister Chief Secretary
(1) Haridev — Naresh
Joshi Chandra
(2) Tikaram - S.W.
Paliwal Shiveshvarkar
(3) Jagannath - M.M.K. Wali
Pahariya

(4) Shiv Charan - T.V. Ramnan
Mathur
(5) Question not attempted

Consider the following statements

regarding a person appointed as
Chief Minister or Minister

(i) He must possess the
qualifications under Article 173,

He must not suffer from

disqualifications under Article
190.

Only (ii) is correct,
Both (i) and (ii) are correct.

Neither (i), nor (ii) is correct.
Only (i) is correct.

(ii)

(1)
(2)
3)
(4)

-(5) Question not attempted

Who among the following had the
charge of the Educati

in the first democra
Rajasthan ?

(1) Ramkishor Vyas

(2) Nathuram Mirdha

(3) Balwant Singh Mehta
(4) Mohanlal Sukhadig
(5) Question not attempted
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89.
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Who is the ex-officio Chairman of the
Standing Committee of Gram

Panchayat for ‘Administration and
Establishment’ ?

(1) Up-Sarpanch

(2) Village Development Officer
(3) Pradhan

(4) Sarpanch

(5) Question not attempted

Consider the following statements
regarding the removal of any
member of Rajasthan Public Service

Commission :

(i)

Any member
removed from his office by order
of the President on the ground
misbehaviour
Supreme Court
matter and reports positively.
(i) The President may by order
remove any member directly, if

can only be

after the
inquires the

in the opinion of the President,
he is unfit to continue in office by

reason of infirmity of mind or
body.

(1) Only (ii) is correct.

(2) Both (i) and (ii) are correct.
(3) Neither (i), nor (ii) is correct.
(4) Only (i) is correct.

(5) Question not attempted

Identify  the wrong statement

regarding Rajasthan State Human
Rights Commission :

(1) It has all the powers of a Civil
Court.

(2) It has its own investigation team.

(3) It admits grievances in
Rajasthani Language also.

(4) Itis an Autonomous body.
(5) Question not attempted
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91.

92,

Consider the following staterpents
regarding summoning of a session of
the Rajasthan Legislative Assembly :

(A) When a session of the Assembly
is summoned, the Speaker shal|
intimate to each member the
date, time and place appointed
by the Governor for the meeting
of the Assembly and shall cause

a notification to be issued in the
Gazette.

(B) Provided that if a session is
called at short notice, the
speaker shall intimate the date,
time and place for the meeting
of the Assembly to members in

such other manner as the
Governor may direct.

Choose the correct option :

(1) Only (B) is correct.

(2) Both (A) and (B) are correct.
(3) Neither (A), nor (B) is correct.
(4) Only (A) is correct.

(5) Question not attempted

Consider the following statements
régarding  the  procedure  of
Rajasthan Legislative Assembly :

(i) Starred question requires a
written

answer and hence
Supplementary questions can
follow.

(i) Un-starred question and short
notice question require an oral
answer and hence supplementary
questions cannot follow.

(1) Only (ii) is correct.
(2) Both (i) and (ii) are correct.
(3) Neither (i), nor (i) is correct.
(4) Only (i) is correct.
(5) Question not attempted oF
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93.

94.

Consider the following statements :

() To give national recognition to
the rich folk traditions and rural
sports heritage of Rajasthan, the
first edition of National Camel
Racing Championship 2025 was

organized in Pushkar in July
2025.
(i) The event was jointly organized
under the aegis of the Camelids
Sports India Federation and the
Rajasthan

Association.

Camel Racing

Which of the statement/s given
above is/are correct ?

(1) (ii) only

(2) Both (i) and (ii)
(3) Neither (i) nor (ii)
(4) (i) only

(5) Question not attempted

When and where was the 19" State
Level Statistics Day celebrated to
commemorate the birth anniversary

of Professor Prasanta Chandra
Mahalanobis ?

(1) 28 June 2025, Jodhpur
(2) 29 June 2025, Jaipur
(3) 30 June 2025, Udaipur
(4) 27 June 2025, Ajmer
(5) Question not attempted
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95.

96.

e that the benefits
;gve?:r?\uernt schemes reach the
most marginalized .sectlons
society, the ‘Pandit Deendaya|
Upadhyay = Antyodaya  Sampy
Pakhwada’ was observed across thg
state from 24 June to 9 ;_lqu 2025
Which of the following activities wag
not part of this initiative ? ,

(1) Settlement of employee§ cases
(2) Soil health card distribution

(3) Water connection

(4) Animal vaccination

(5) Question not attempted

Consider the following statements
about the “Ramashray Warg” -

(i) From March 14, 2024, Ramashray
Wards were inaugurated in the
District Hospitals of the state for
Proper care of the health and
respectful treatment of senior
citizens in hospitals.

Ten Fowler beds (five each for

(ii)

men and women), with curtains
to ensure privacy, have been
reserved in the Ramashray
Wards,

Which of the statement/s given

above is/are correct ?

(1) (ii) only

(2) Both (i) and (ii)

(3) Neither (i) nor (i)

(4) (i) only

(5) Question not attempted

The Country's First Government

Girls Sainj

k School established in

Rajasthan was nameg after which of
the followings ?

(1) Ramidevi Ramnarayan Rathi
(2) Karni Mata

(3) Maa Jalapa Devj

(4) Rametidevi Jagdeesh Data
(5) Question not attempted
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99.

100.

éBTl?aﬁ 98. Sukhman Singh of Rajasthan has

secured second place in which

category in the India Open

Competition NR Events 2025 held in

Dehradun from 1 July to 10 July

2025 ?

(1) 50 m rifle (senior)

(2) 10 m air pistol (deaf men
individual)

(3) 10 m air rifle (sub-junior)

(4) 25 m rapid fire pistol (junior)

(5) Question not attempted

The first bike on rent service “Co-op
Ride” by Cooperative Department of
Rajasthan was launched in June
2025 in which of the following cities ?

(1) Jodhpur (2) Ajmer
(3) Udaipur (4) Jaipur

(5) Question not attempted

Who among the following is NOT
included in the three membered
Cabinet Committee formed in June
2025 to review the demands of Most
Backward Classes (MBC) including
Gurjar community ?

(1) Shri Jawahar Singh Bedham

(2) Shri Avinash Gehlot

(3) Shri Joraram Kumawat

(4) Shri Jogaram Patel

(5) Question not attempted
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